Problem: TroodosMount
The fire department of Cyprus has installed fire stations in mount Troodos to serve fire brigades. From each station emanate several paths that are used by brigades and lead to other stations. Right before the summer the fire department wants to check if the stations work properly and if they can cover the path between successive stations following a specific direction in each path. The Chief of the fire department has established a team of technicians to check each station and the state of each path. There are N (
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) stations and the travel time (a positive integer value 
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) between two stations is known. The stations are numbered from 0 to N-1. The diagram below shows an example with N = 8 stations.


The team of technicians must start at station 0 and follow all possible paths to arrive at station N-1. At each forked junction, the team splits and proceeds to each of the forked routes immediately. For example, at station 0, the team splits into two  The first one explores the route leading to station 1, while the other proceeds to station 2. The group that arrives at station 1 must split into two again, one going to station 5 and the other heading for station 4. In other words, no path is left unexplored. There are always enough people to split up into the required number of groups, and technicians know which route to follow.

If a group arrives at a station earlier than other groups, the early group must wait for the rest, until all have arrived safely, before they split to proceed on at the same time. For example, assuming that you start at time zero, the earliest group arrives at station 4 at time 9 (via station 1), and they have to wait for the other two groups coming from station 2 and station 3. When all the 3 groups have arrived, they split into 2 groups and head for stations 5 and 6.

Note that there is only one start station (at station 0) and one end station (at station N-1), every station is reachable from station 0, and station N-1 is reachable from all the stations through others. There are no cycles.

Task 1
Compute the earliest time T when the last group can reach station N-1, assuming that the team starts at time zero. For the above example, the earliest time for the last group to reach the final station 7 is 35.
Task 2

Since a group that arrives at a station must wait for the other group(s) to arrive before setting off again, this constitutes the waiting time. Formally, the waiting time at a station is the duration between the arrival times of the first and the last groups at that station. For example, at station 4, the first group arrived at time 9 (via station 1), and the last group arrived at time 14 (via stations 2 and 3), so the waiting time at station 4 is 5. Similarly, the waiting time for station 5 is 13.

You are to compute the total waiting time, which is the sum of waiting times at all the stations, for the whole trip. In the example, the total waiting time is 24.

Task 3

At some stations, there is a possibility that the groups may not set off right away after all the groups have arrived there, and actually arrive at station N-1 NO later than time T. For example, at station 1, the groups arrived at time 5, but can rest until time 10 before setting off, without affecting T, the earliest arrival time of the last group at station 7. Similarly, when all groups have arrived at station 5, they can rest for a further 1 unit of time. However, at all the other stations, the groups must set off immediately without delay. Hence, for our example, there are two stations (stations 1 and 5) where the technicians may delay their departure. 

You are to compute the number of stations at which delayed departure will not affect the time T.

Input

The input which will be given from standard input includes the integer N (
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, the number of stations) and the integer M (
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, the number of edges), followed by M lines each containing 3 integers: a station A, a station B (the direction of motion is A->B) and the time to travel from A to B. Note that for the input A<B. The whole trip starts from station 0 at time zero. The next station is reached in time equal to the travel time between the start station and this station. The trip ends at station N-1.

Output

Your program should write on the standard output 3 integers, separated by a space, in a single line: (1) the earliest time T when the last group arrives at the final station N-1, (2) the total waiting time, and (3) the number of stations where delayed departure is permitted. For our example:

Example

	input

8 12

0 1 5

0 2 6

1 5 5

1 4 4

2 4 7

2 3 5

3 4 3

3 6 10

4 5 9

4 6 12

5 7 11

6 7 9
	output

35 24 2


Format

In both input and output, all numbers in a line are separated with a single space and all lines terminate with a newline character.

Time Limit: 2 second
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